



namn: _____

Datum: _____ Poäng: _____

$$\left(\frac{3}{5}\right)^0 - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{2}\right) + \frac{1}{2} =$$

$$\left(-\frac{1}{4}\right)^2 + \left(-\frac{2}{5}\right) =$$

$$\left(\frac{3}{5}\right)^2 + \frac{1}{6} =$$

$$\left(-\frac{1}{2}\right) - \left(-\frac{1}{6}\right) =$$

$$\left(\frac{1}{2}\right)^2 + \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{1}{5}\right)^3 - \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{6}\right)^2 + \frac{1}{2} =$$

$$\left(-\frac{2}{5}\right)^3 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{4}\right)^3 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{3}{5}\right)^3 + \frac{1}{2} =$$

$$\left(-\frac{3}{4}\right)^2 - \left(-\frac{1}{6}\right) =$$

$$\left(\frac{2}{5}\right) + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{3}{5}\right)^3 + \left(-\frac{1}{5}\right) =$$

$$\left(\frac{1}{4}\right)^2 - \left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{6}\right) - \frac{1}{3} =$$

$$\left(-\frac{1}{4}\right)^3 - \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{2}\right) + \left(-\frac{3}{5}\right) =$$

$$\left(\frac{3}{5}\right)^0 + \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{5}\right)^3 - \frac{1}{3} =$$



namn: _____

Datum: _____ Poäng: _____

$$\left(\frac{3}{5}\right)^0 - \left(-\frac{1}{2}\right) = \frac{3}{2} = 1\frac{1}{2}$$

$$\left(\frac{1}{2}\right) + \frac{1}{2} = 1$$

$$\left(-\frac{1}{4}\right)^2 + \left(-\frac{2}{5}\right) = \left(-\frac{27}{80}\right)$$

$$\left(\frac{3}{5}\right)^2 + \frac{1}{6} = \frac{79}{150}$$

$$\left(-\frac{1}{2}\right) - \left(-\frac{1}{6}\right) = \left(-\frac{1}{3}\right)$$

$$\left(\frac{1}{2}\right)^2 + \left(-\frac{1}{3}\right) = \left(-\frac{1}{12}\right)$$

$$\left(-\frac{1}{5}\right)^3 - \left(-\frac{2}{5}\right) = \frac{49}{125}$$

$$\left(\frac{1}{6}\right)^2 + \frac{1}{2} = \frac{19}{36}$$

$$\left(-\frac{2}{5}\right)^3 + \left(-\frac{1}{2}\right) = \left(-\frac{141}{250}\right)$$

$$\left(\frac{1}{4}\right)^3 + \left(-\frac{1}{2}\right) = \left(-\frac{31}{64}\right)$$

$$\left(\frac{3}{5}\right)^3 + \frac{1}{2} = \frac{179}{250}$$

$$\left(-\frac{3}{4}\right)^2 - \left(-\frac{1}{6}\right) = \frac{35}{48}$$

$$\left(\frac{2}{5}\right) + \left(-\frac{1}{2}\right) = \left(-\frac{1}{10}\right)$$

$$\left(-\frac{3}{5}\right)^3 + \left(-\frac{1}{5}\right) = \left(-\frac{52}{125}\right)$$

$$\left(\frac{1}{4}\right)^2 - \left(-\frac{3}{5}\right) = \frac{53}{80}$$

$$\left(\frac{1}{6}\right) - \frac{1}{3} = \left(-\frac{1}{6}\right)$$

$$\left(-\frac{1}{4}\right)^3 - \left(-\frac{1}{5}\right) = \frac{59}{320}$$

$$\left(-\frac{1}{2}\right) + \left(-\frac{3}{5}\right) = \left(-\frac{11}{10}\right) = \left(-1\frac{1}{10}\right)$$

$$\left(\frac{3}{5}\right)^0 + \left(-\frac{3}{4}\right) = \frac{1}{4}$$

$$\left(-\frac{1}{5}\right)^3 - \frac{1}{3} = \left(-\frac{128}{375}\right)$$